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0,16±0,01 2 ( -
 – 0,76±0,03 2, 

<0,001).  30-  
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 23  (1981-2003 .). 
-

 (N – NO3 ),  P2O5 
/ 100 , 2 / 100  

 
,  4- . 

: 
1. N – NO3 y = 26,0 + 2,19 N R = 0,63 
2. 2 5 y = 5,8 + 0,16 2 R = 0,69 
3. 2  y = 27,5 + 1,50  R = 0,58 

: 
1. y = 8,5 + 4,97 N R = 0,83 
2. y = 5,9 + 096 P R = 0,98 
3. y = 24,6 + 5,51 K R = 0,87 

: 
1. y = 6,6 + 5,24 N R = 0,89 
2. y = 7,1 + 0,99  R = 0,89 
3. y = 27,1 + 5,40  R = 0,71 

 (  5 )  
: y = 39,82 + 2 2 R = 0,85 

: 
y = 30,44 + 1,22 N R = 0,86 

: 
y = 35,40 + 1,96 P R = 0,75 

: 
y = 46,77 + 2,56 N R = 0,76 
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